REHEE 2 A S e & (HETAD SHMIENANE BE (B N) (B8] S#aEInGRBES)
wir g | e (PED0| Az (meas| T (REERE) BH ) eom |LF0.| | @SR | ZHR | TR | AR | 2R | FAR | TRR | fmw | 6
THM 5 1 8 14 13 1 14
RIFZHET 0 2 0 2 2 2
SAlEET 1 1 1 1
EReiaeliag 0 0 0 0
A 0 0 0 0
AR 1 1 1 1
BiET 1 6 3 2 16 1 29 20 9 29
BT 0 1 9 7 17 12 1 4 17
=5t 0 2 8 1 11 8 3 11
ELEN 3 3 23 3 32 28 1 3 32
FEM 0 2 1 1 3 0 7 5 2 0 0 7
=t 0 13 5 5 22 5 50 35 10 1 4 50
B ST 0 4 1 20 2 27 24 2 1 27
BHM 0 9 1 10 4 6 10
FEm 4 4 3 1 4
FREOE! 0 3 0 2 5 4 0 1 0 5
ERRHT 2 1 3 2 1 3
7B 7KHET 7 7 7 7
R RET 9 1 3 0 13 8 1 2 2 13
JINLET 0 1 1 2 2 2
FRRE T 1 4 12 2 2 68 9 98 48 4 5 2 96
BT 3 8 0 0 0 11 5 3 3 11
BEiET 0 2 2 0 7 0 11 1 8 2 1
BRR T 12 6 4 22 10 11 1 22
Wz R 0 3 3 3 3
= HET 1 1 1 1
JARZET 0 0
R 0 18 8 0 2 0 41 6 75 40 21 4 9 1 75
BT 2 3 0 0 10 15 11 4 15
#H 0 14 22 5 4 33 2 2 2 2 41
KHH 0 2 0 0 0 0 4 6 6 2 8
FET 0 2 1 10 13 7 6 13
AT T 0 1 0 3 1 25 21 4 25
I 5 0 5 5 5
AT 0 0
&t 4 107 67 6 17 1 310 49 561 368 130 23 0 27 3 8 2 561
0.7% 19.1% 11.9% 1.1% 3.0% 0.2% 55.3% 8.8% 100% 65.6%  23.2% 4.1% 0.0% 4.8% 0.5% 1.4% 04%  100.0%
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